


ol

2. ohg E 7kRe ot o, ARl Aol 15ab’ o) AAZ e HolE
w9

2t

@D 4a?b ® 3b2 ® 3b3 @ 92b3 3 3ab3



3. Aol wol A viF AAsHs 48t1= oA 5 @ o] stAgel
heut Ze BAT Fol AT AHE vl £ g Wetelet

27) org [ ool S0l 48 B o3t & Fololat,
x—{5y 2(y - 3x) —|—2}

=x—(5y -2y +6x+2)

—x—(6x+[_ p+[ )

:x—6x+my—2

ZD)H—D))—Z

M -8, 3% -6, X 1 -4, FF 18, F= 10

YR
-



a=-1,b=292 ", -3a+ 6b-3(b+ 2a) = Atstoiet.

>R
=%



@ P xx?=1

® a®*x (a®)? =a"

@ 2xx3sxP=1

@ a*+a?+a=0

G add-axa=a



6. 3°+3°+3° 239 AGAFLE o] YERH?

@ 33 ® 36 3 39 @ 312 (B 315



A a*b2 @
9a2h?
B 9q%b?



8.  (2x+5)-(x-7) & ZtHs| opH?

D x-1 @ x+1 ® x+12

@ 2x+5 ® 2x+ 12



9. (3x% = 9xy) + 3x — (8xy — 4y?) = (-2y) & ZFHo] SFH?

® -5x-y @ 3x-y ® 3x-5y

@ —-3x-5y ® 5x—5y



2b _
¥y =% 2 W, 2ax - 3byE a2} boll BRF A 02 LpERHH?

a
10- x=§ 3

® 2a-2b @ 2a-3b ® a2 -2

@ 42 - b2 B 242 — 3b?



11.

x+3y=2x+y¥

D1

@ 2

’

2x

o

o
U2?

® 3



12
. 21232
X510 o
_‘__tﬂ
7—<1

Fel o] 4914
214 o}
stofe

SER
Ae) %






3a3h3

ch—9.90]
]_4. ab—32,z‘IH (22b)

05l qhe Fetofe,

e e
=%



-8x%y +4xy?>  6xy% 4+ 9x%y
—2xy 3xy

15. =ax+by €, a+b 2 F2?

@D -3 ® -2 B -1 @ 0 B 1



the 9] A7 5] a7} 30x2y 4 45x2 U uf, o] A7 5 9]
=0°] h'g Fotofet.




17. 125 =27 x3" 9 0, m+ n o] 3L Fajolat,

>R
c



@ 29 @ 210 @ 211 @ 212

@D 28



19. a=-1, b =3 < 0], 20a2b x 5ab? + 4ab 2] Zt-& F5toi=t.

>R
=%



20. oJ" A Ao 2x% + 3x - 55 Tlallof &

o 718 2sto] Mgy Hol
3¢ — 7x+ 6 7} FIck. A AR T Fotolat

@ 5x* —4x+1 @ 5x% +4x-1 ® x> +x+4

@ 7Tx2-—x-4

B Tx2+x—-4



